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[MpencrasneHne 6Mb6ANOTEKU

INVAV f 11v £1.1
N1lv t2.1

NAND2 .‘ A N2v £2.2
i 1IN1lv  t3.1

AND2 .‘ »' 1IN2v  t3.2

INV(l) O NAND2(N) @ Terminal(v) @



PekypcuBHbIN aAropmUTM NOUCKA
CTPYKTYPHbIX COOTBETCTBUM

Match (u, v)

if u.islLeaf() return True

else

if v.islLeaf()

if u.degree()

if v.degree()
uc :=
V.C :=
return

else

return False

I= v.degree() return False
==1

u.get child()

v.get child()

Match(u c,v_c)

u.get left child()
u.get right child()
v.get left child()

v.get right child()
Match(u_l,v_1) and Match(u_r,v_r)
Match(u_l,v_r) and Match(u_r,v_1)
m 1 or m2



[locTpoeHne aBTOMaTa

N1lv t1.1
N2IIN1lv t2.2
N2I1IN2v 12.2

N1lv t2.1
N2v t2.2

INV(l) O NAND2(N) @ Terminal(v) @



[locTpoeHne aBTOMaTa

t1.1
9 t1.2
t2.1

N1lv t1.1
N2I1IN1lv t2.2 N1lv t2.1
N2IIN2v t2.2 N2v t2.2



O6xopa ueneBoro Aepesa

Visit Node (G, n)

if n - KopeHb pepeBa
n.state:=Next(0, n.symbol)

else
n.state:=Next(Next(n.parent.state,k),n.symbol)
//BepunHa n ABnAaeTcA k-bIM MOTOMKOM pOAUTENbCKOU
//BepunHbl n.parent

foreach notomka c BepwuHbl n
Visit Node(G, c)

Post Process(G,n)



O6xopa ueneBoro Aepesa

Post Process (G, n)
n.b(i):=0
if n.state == “ACCEPT”
Set Partial(G, n, n.state)
foreach wabnoHa t;
n.b(i):=n.b(i) or [l.ecin)c bi/2
//C(n) - MHOXeCTBO BCeX AOYEPHUX BEPWWUH BEPWMUHbI N
Do Reduce(G, n)

Set Partial(G, n, s)
foreach cTpoku t; ovHbBI 2j+1 OBGHAPYXEHHbIX B S
n.b(i):=n.b(i) or 2/



